

# Some contraction fixed point theorems in partially ordered modular metric spaces

Hossein Rahimpour

Department of Mathematics, Payame Noor University, Tehran, Iran

(Communicated by Oluwatosin Temitope Mewomo)

---

## Abstract

In this paper, we prove some fixed point theorems for modular metric spaces endowed with partial order sets by using the mixed monotone mapping property which is a generalization of the definitions and results of T. Gnana Bhaskar and V. Lakshmikantham.

Keywords: Coupled fixed point, Modular metric spaces, Partially ordered sets

2020 MSC: Primary 47H10, 46J10; Secondary 47H09

---

## 1 Introduction

The theory of modular spaces was initiated by Nakano [15] in 1950, and generalized and redefined by Musielak and Orlicz [14] in 1959.

In 2008, Chistyakov [5] introduced the notation of modular metric spaces generated by F-modular and developed the theory of modular spaces. By the same idea he defined the modular metric spaces on an arbitrary set which is a new generalization of metric spaces [6], [7]. The field of the metric fixed point theory and its applications [10], [12] are far reaching developments of Banach's Contraction Principle [3], and the first fixed point results in modular function space were given by Khamsi [12].

Recently some authors have introduced and have established some notions and fixed point results in modular metric spaces (c.f.[4, 8, 13]). Many authors investigated on the existence of the fixed points for contraction type mapping in partially ordered metric spaces [1, 2, 11].

In this paper we state and prove some coupled fixed point theorems for partially ordered modular metric spaces. These results are extensions of the results obtained by T. Gnana Bhaskar and Lakshmikantham [9].

**Definition 1.1.** Let  $X$  be an arbitrary set. A function  $\omega : (0, \infty) \times X \times X \rightarrow [0, \infty]$  that will be written as  $\omega_\lambda(x, y) = \omega(\lambda, x, y)$  for all  $x, y \in X$  and for all  $\lambda > 0$ , is said to be a modular metric on  $X$  (or simply a modular if no ambiguity arises) if it satisfies the following three conditions:

- (i) given  $x, y \in X$ ,  $\omega_\lambda(x, y) = 0$  for all  $\lambda > 0$  iff  $x = y$ ;
- (ii)  $\omega_\lambda(x, y) = \omega_\lambda(y, x)$ , for all  $\lambda > 0$  and  $x, y \in X$ ;
- (iii)  $\omega_{\lambda+\mu}(x, y) \leq \omega_\lambda(x, z) + \omega_\mu(z, y)$  for all  $\lambda, \mu > 0$  and  $x, y, z \in X$ .

---

Email address: [rahimpour2000@pnu.ac.ir](mailto:rahimpour2000@pnu.ac.ir) (Hossein Rahimpour)

If instead of (i), we have only the condition:

(i<sub>1</sub>)  $\omega_\lambda(x, x) = 0$  for all  $\lambda > 0$  and  $x \in X$ , then  $\omega$  is said to be a (metric) pseudomodular on  $X$  and if  $\omega$  satisfies (i<sub>1</sub>) and

(i<sub>2</sub>) given  $x, y \in X$ , if there exists  $\lambda > 0$ , possibly depending on  $x$  and  $y$ , such that  $\omega_\lambda(x, y) = 0$  implies that  $x = y$ , then  $\omega$  is called a *strict modular* on  $X$ .

**Definition 1.2.** [6] Given a modular  $\omega$  on  $X$ , the sets

$$X_\omega \equiv X_\omega(x_o) = \{x \in X : \omega_\lambda(x, x_o) \rightarrow 0 \text{ as } \lambda \rightarrow \infty\}$$

and

$$X_\omega^* \equiv X_\omega^*(x_o) = \{x \in X : \omega_\lambda(x, x_o) < \infty \text{ for some } \lambda > 0\}$$

are said to be modular spaces (around  $x_o$ ). Also the modular spaces  $X_\omega$  and  $X_\omega^*$  can be equipped with metrics  $d_\omega$  and  $d_\omega^*$ , generated by  $\omega$  and given by

$$d_\omega(x, y) = \inf\{\lambda > 0 : \omega_\lambda(x, y) \leq \lambda\}, \quad x, y \in X_\omega$$

and

$$d_\omega^*(x, y) = \inf\{\lambda > 0 : \omega_\lambda(x, y) \leq 1\}, \quad x, y \in X_\omega^*$$

If  $\omega$  is a convex modular on  $X$ , then according to [6, Theorem 3.6] the two modular spaces coincide,  $X_\omega = X_\omega^*$ .

**Definition 1.3.** Given a modular metric space  $X_\omega$ , a sequence of elements  $\{x_n\}_{n=1}^\infty$  from  $X_\omega$  is said to be modular convergent ( $\omega$ -convergent) to an element  $x \in X$  if there exists a number  $\lambda > 0$ , possibly depending on  $\{x_n\}$  and  $x$  such that  $\lim_{n \rightarrow \infty} \omega_\lambda(x_n, x) = 0$ . This will be written briefly as  $x_n \xrightarrow{\omega} x$ , as  $n \rightarrow \infty$ .

**Definition 1.4.** [8] A sequence  $\{x_n\} \subset X_\omega$  is said to be  $\omega$ -Cauchy if there exists a number  $\lambda = \lambda(\{x_n\}) > 0$  such that  $\lim_{m, n \rightarrow \infty} \omega_\lambda(x_n, x_m) = 0$ , i.e.,

$$\forall \varepsilon > 0 \exists n_o(\varepsilon) \in \mathbb{N} \text{ such that } \forall n, m \geq n_o(\varepsilon) : \omega_\lambda(x_n, x_m) \leq \varepsilon.$$

Modular metric space  $X_\omega$  is said to be  $\omega$ -complete if each  $\omega$ -Cauchy sequence from  $X_\omega$  is modular convergent to an  $x \in X_\omega$ .

**Remark 1.5.** A modular  $\omega = \omega_\lambda$  on a set  $X$ , for given  $x, y \in X$ , is non-increasing on  $\lambda$ . Indeed if  $0 < \lambda < \mu$ , then we have

$$\omega_\mu(x, y) \leq \omega_{\mu-\lambda}(x, x) + \omega_\lambda(x, y) = \omega_\lambda(x, y)$$

for all  $x, y \in X$ .

Let  $\omega$  be a modular on  $X$  such that  $X_\omega$  is a  $\omega$ -complete modular metric space and  $(X_\omega, \preceq)$  is a partially ordered set. Further, we endow the product space  $X_\omega \times X_\omega$  with the following partial order:

$$\text{for } (x, y), (u, v) \in X_\omega \times X_\omega, (u, v) \preceq (x, y) \Leftrightarrow x \succeq u, y \preceq v.$$

**Definition 1.6.** [17, 18] Let  $X_\omega$  be a modular metric space, we say that  $T : X_\omega \rightarrow X_\omega$  is modular continuous ( $\omega$ -continuous) if

$$x_n \xrightarrow{\omega} x \Rightarrow Tx_n \xrightarrow{\omega} Tx$$

for each  $\{x_n\} \in X_\omega$  as  $n \rightarrow \infty$ .

**Definition 1.7.** Let  $(X_\omega, \preceq)$  be a partially ordered set and  $T : X_\omega \times X_\omega \rightarrow X_\omega$ . We say that  $T$  has the mixed monotone property if  $T(x, y)$  is monotone non-decreasing with respect to  $x$  and is monotone non-increasing on  $y$ , that is, for any  $x, y \in X_\omega$ ,

$$x_1, x_2 \in X_\omega, x_1 \preceq x_2 \rightarrow T(x_1, y) \preceq T(x_2, y)$$

and

$$y_1, y_2 \in X_\omega, y_1 \preceq y_2 \rightarrow T(x, y_1) \succeq T(x, y_2).$$

**Definition 1.8.** We call an element  $(x, y) \in X_\omega \times X_\omega$  a *coupled fixed point* of the mapping  $T : X_\omega \times X_\omega \rightarrow X_\omega$  if

$$T(x, y) = x, \quad T(y, x) = y.$$

**Remark 1.9.** For each  $(x, y), (u, v) \in X_\omega \times X_\omega$  we set,

$$\omega_\lambda((x, y), (u, v)) = \omega_\lambda(x, u) + \omega_\lambda(y, v).$$

It's obvious that  $\omega_\lambda$  is (metric) modular on  $X_\omega \times X_\omega$ .

**Lemma 1.10.** Suppose that  $\{x_n\}$  and  $\{y_n\}$  are two sequences in modular metric space  $X_\omega$ . Then  $\{x_n\}$  and  $\{y_n\}$  are  $\omega$ -convergent to  $x$  and  $y$  (respectively) iff coupled sequence  $\{(x_n, y_n)\}$  is  $\omega$ -convergent to  $(x, y)$ .

**Proof .** Let  $\{x_n\}$  and  $\{y_n\}$  be two  $\omega$ -convergent sequences such that  $x_n \xrightarrow{\omega} x$  and  $y_n \xrightarrow{\omega} y$  as  $n \rightarrow \infty$ . By definition of the modular convergence, there exist  $\lambda = \lambda(\{x_n\}, x) > 0$  and  $\mu = \mu(\{y_n\}, y) > 0$  such that,  $\omega_\lambda(x_n, x) \rightarrow 0$  and  $\omega_\mu(y_n, y) \rightarrow 0$ , as  $n \rightarrow \infty$ . Let  $\zeta \geq \max\{\lambda, \mu\}$ , it follows from Remark 1.5 that

$$\omega_\zeta(x_n, x) \leq \omega_\lambda(x_n, x) \rightarrow 0 \quad \text{as } n \rightarrow \infty$$

and

$$\omega_\zeta(y_n, y) \leq \omega_\mu(y_n, y) \rightarrow 0 \quad \text{as } n \rightarrow \infty.$$

So we have

$$\omega_\zeta((x_n, y_n), (x, y)) = \omega_\zeta(x_n, x) + \omega_\zeta(y_n, y) \rightarrow 0 \quad \text{as } n \rightarrow \infty.$$

It follows that  $\{(x_n, y_n)\}$  is modular convergent, i.e.,  $(x_n, y_n) \xrightarrow{\omega} (x, y)$  as  $n \rightarrow \infty$ . Conversely, suppose that  $(x_n, y_n) \xrightarrow{\omega} (x, y)$  as  $n \rightarrow \infty$ , then there exists  $\lambda = \lambda(\{(x_n, y_n)\}, (x, y))$  such that

$$\omega_\lambda((x_n, y_n), (x, y)) \rightarrow 0, \text{ as } n \rightarrow \infty.$$

By Remark 1.9 we have

$$0 \leq \omega_\lambda((x_n, y_n), (x, y)) = \omega_\lambda(x_n, x) + \omega_\lambda(y_n, y) \rightarrow 0.$$

Therefore  $x_n \xrightarrow{\omega} x$  and  $y_n \xrightarrow{\omega} y$  as  $n \rightarrow \infty$ .  $\square$

## 2 Preliminaries

In this section, we prove the fixed point theorem for a function  $T$  on the partial ordered product space  $X_\omega \times X_\omega$  which is a generalization of T. Gnana Bhaskar and V. Lakshmikantham [9].

**Theorem 2.1.** Let  $\omega$  be a strict modular on  $X$  such that  $X_\omega$  is a  $\omega$ -complete modular metric space and  $T : X_\omega \times X_\omega \rightarrow X_\omega$  is a  $\omega$ -continuous mapping having the mixed monotone property on  $X_\omega$ . Assume that there exists a  $k \in [0, 1)$  with

$$\omega_\lambda(T(x, y), T(u, v)) \leq \frac{k}{2} [\omega_\lambda(x, u) + \omega_\lambda(y, v)], \quad (x \succeq u, y \preceq v). \quad (2.1)$$

If there exist  $x_0, y_0 \in X_\omega$  such that

$$x_0 \preceq T(x_0, y_0) \quad \text{and} \quad y_0 \succeq T(y_0, x_0),$$

then there exist  $x, y \in X_\omega$  such that

$$x = T(x, y) \quad \text{and} \quad y = T(y, x).$$

**Proof .** Taking  $T(x_0, y_0) = x_1, T(y_0, x_0) = y_1, x_2 = T(x_1, y_1)$  and  $y_2 = T(y_1, x_1)$ , we obtain

$$T^2(x_0, y_0) = T(T(x_0, y_0), T(y_0, x_0)) = T(x_1, y_1) = x_2$$

and

$$T^2(y_0, x_0) = T(T(y_0, x_0), T(x_0, y_0)) = T(y_1, x_1) = y_2.$$

By mixed monotone property of  $T$  we get,

$$x_2 = T^2(x_0, y_0) = T(x_1, y_1) \succeq T(x_0, y_0) = x_1$$

and

$$y_2 = T^2(y_0, x_0) = T(y_1, x_1) \preceq T(y_0, x_0) = y_1.$$

We construct sequences  $\{x_n\}$  and  $\{y_n\}$  as following:

$$x_{n+1} = T^{n+1}(x_0, y_0) = T(T^n(x_0, y_0), T^n(y_0, x_0))$$

and

$$y_{n+1} = T^{n+1}(y_0, x_0) = T(T^n(y_0, x_0), T^n(x_0, y_0)).$$

By induction and the mixed monotone property of  $T$ , we get the following two relation:

$$x_0 \preceq T(x_0, y_0) = x_1 \preceq T^2(x_0, y_0) = x_2 \preceq \dots \preceq T^{n+1}(x_0, y_0) = x_{n+1} \preceq \dots$$

and

$$y_0 \succeq T(y_0, x_0) = y_1 \succeq T^2(y_0, x_0) = y_2 \succeq \dots \succeq T^{n+1}(y_0, x_0) = y_{n+1} \succeq \dots$$

Now we show that for  $n \in \mathbb{N}$ ,

$$\omega_\lambda(T^{n+1}(x_0, y_0), T^n(x_0, y_0)) \leq \frac{k^n}{2} [\omega_\lambda(T(x_0, y_0), x_0) + \omega_\lambda(T(y_0, x_0), y_0)], \quad (2.2)$$

and

$$\omega_\lambda(T^{n+1}(y_0, x_0), T^n(y_0, x_0)) \leq \frac{k^n}{2} [\omega_\lambda(T(y_0, x_0), y_0) + \omega_\lambda(T(x_0, y_0), x_0)]. \quad (2.3)$$

For  $n = 1$ , using (2.1) we get

$$\begin{aligned} \omega_\lambda(T^2(x_0, y_0), T(x_0, y_0)) &= \omega_\lambda(T(T(x_0, y_0), T(y_0, x_0)), T(x_0, y_0)) \\ &\leq \frac{k}{2} [\omega_\lambda(T(x_0, y_0), x_0) + \omega_\lambda(T(y_0, x_0), y_0)]. \end{aligned}$$

Similarly,

$$\begin{aligned} \omega_\lambda(T^2(y_0, x_0), T(y_0, x_0)) &= \omega_\lambda(T(T(y_0, x_0), T(x_0, y_0)), T(y_0, x_0)) \\ &\leq \frac{k}{2} [\omega_\lambda(T(y_0, x_0), y_0) + \omega_\lambda(T(x_0, y_0), x_0)]. \end{aligned}$$

Now, assume that (2.2) and (2.3) hold. Using

$$T^{n+1}(x_0, y_0) \succeq T^n(x_0, y_0) \text{ and } T^{n+1}(y_0, x_0) \preceq T^n(y_0, x_0),$$

we get

$$\begin{aligned} &\omega_\lambda(T^{n+2}(x_0, y_0), T^{n+1}(x_0, y_0)) \\ &= \omega_\lambda(T(T^{n+1}(x_0, y_0), T^{n+1}(y_0, x_0)), T(T^n(x_0, y_0), T^n(y_0, x_0))) \\ &\leq \frac{k}{2} [\omega_\lambda(T^{n+1}(x_0, y_0), T^n(x_0, y_0)) + \omega_\lambda(T^{n+1}(y_0, x_0), T^n(y_0, x_0))] \\ &\leq \frac{k^{n+1}}{2} [\omega_\lambda(T(x_0, y_0), x_0) + \omega_\lambda(T(y_0, x_0), y_0)]. \end{aligned}$$

Similarly, one can show that

$$\omega_\lambda(T^{n+2}(y_0, x_0), T^{n+1}(y_0, x_0)) \leq \frac{k^{n+1}}{2} [\omega_\lambda(T(y_0, x_0), y_0) + \omega_\lambda(T(x_0, y_0), x_0)].$$

This implies that  $\{T^n(x_0, y_0)\}$  and  $\{T^n(y_0, x_0)\}$  are  $\omega$ -Cauchy sequences in  $X_\omega$ . In fact, for  $m > n$ ,

$$\begin{aligned} \omega_\lambda(T^m(x_0, y_0), T^n(x_0, y_0)) &= \omega_{\frac{\lambda(m-n)}{m-n}}(T^m(x_0, y_0), T^n(x_0, y_0)) \\ &\leq \omega_{\frac{\lambda}{m-n}}(T^n(x_0, y_0), T^{n+1}(x_0, y_0)) + \dots + \omega_{\frac{\lambda}{m-n}}(T^{m-1}(x_0, y_0), T^m(x_0, y_0)) \\ &\leq \frac{(k^{m-1} + \dots + k^n)}{2} [\omega_{\frac{\lambda}{m-n}}(T(x_0, y_0), x_0) + \omega_{\frac{\lambda}{m-n}}(T(y_0, x_0), y_0)] \\ &= \frac{(k^n - k^m)}{2(1 - k)} [\omega_{\frac{\lambda}{m-n}}(T(x_0, y_0), x_0) + \omega_{\frac{\lambda}{m-n}}(T(y_0, x_0), y_0)] \\ &< \frac{k^n}{2(1 - k)} [\omega_{\frac{\lambda}{m-n}}(T(x_0, y_0), x_0) + \omega_{\frac{\lambda}{m-n}}(T(y_0, x_0), y_0)]. \end{aligned}$$

Similarly, we can verify that  $\{T^n(y_0, x_0)\}$  is also a  $\omega$ -Cauchy sequence. Since  $X_\omega$  is a  $\omega$ -complete modular metric space, there exist  $x, y \in X_\omega$  such that

$$T^n(x_0, y_0) \xrightarrow{\omega} x \ ; \ T^n(y_0, x_0) \xrightarrow{\omega} y.$$

Now we claim that  $T(x, y) = x$  and  $T(y, x) = y$ . Because  $T^n(x_0, y_0) \xrightarrow{\omega} x$  and  $T^n(y_0, x_0) \xrightarrow{\omega} y$  as  $n \rightarrow \infty$ , so there exist  $\lambda_1 = \lambda_1(\{T^n(x_0, y_0)\}, x) > 0$  and  $\lambda_2 = \lambda_2(\{T^n(y_0, x_0)\}, y) > 0$  such that,

$$\omega_{\lambda_1}(T^n(x_0, y_0), x) \rightarrow 0 \ ; \ \omega_{\lambda_2}(T^n(y_0, x_0), y) \rightarrow 0.$$

The mapping  $T : X_\omega \times X_\omega \rightarrow X_\omega$  is  $\omega$ -continuous. So if  $(x_n, y_n) \xrightarrow{\omega} (x, y)$ , then there exists  $\lambda_3 = \lambda_3(\{T(x_n, y_n)\}, T(x, y))$  such that

$$\omega_{\lambda_3}(T(x_n, y_n), T(x, y)) \rightarrow 0.$$

This implies that

$$\omega_{\lambda_3}(T^{n+1}(x_0, y_0), T(x, y)) = \omega_{\lambda_3}(T(T^n(x_0, y_0), T^n(y_0, x_0)), T(x, y)) \rightarrow 0.$$

Therefore for  $\lambda \geq \lambda_1 + \lambda_3$  we have,

$$\begin{aligned} \omega_\lambda(T(x, y), x) &\leq \omega_{\lambda_1 + \lambda_3}(T(x, y), x) \\ &\leq \omega_{\lambda_1}(T^{n+1}(x_0, y_0), x) + \omega_{\lambda_3}(T(x, y), T^{n+1}(x_0, y_0)) \rightarrow 0, \end{aligned}$$

as  $n \rightarrow \infty$ . So by strictness of  $\omega$ ,  $T(x, y) = x$ . Similarly  $T(y, x) = y$ .  $\square$

**Theorem 2.2.** Let  $\omega$  be a strict modular on  $X$  such that  $X_\omega$  is a  $\omega$ -complete modular metric space and  $(X_\omega, \preceq)$  is a partially ordered set. Suppose that  $X_\omega$  has the following properties:

- (i) if a nondecreasing sequence  $x_n \xrightarrow{\omega} x$ , then  $x_n \preceq x$ , for all  $n$ ;
- (ii) if a non-increasing sequence  $y_n \xrightarrow{\omega} y$ , then  $y \preceq y_n$ , for all  $n$ .

Let  $T : X_\omega \times X_\omega \rightarrow X_\omega$  be a mapping having the mixed monotone property on  $X_\omega$ . Assume that there exists a  $k \in [0, 1)$  with

$$\omega_\lambda(T(x, y), T(u, v)) \leq \frac{k}{2}[\omega_\lambda(x, u) + \omega_\lambda(y, v)], \quad (x \succeq u, y \preceq v).$$

If there exist  $x_0, y_0 \in X_\omega$  such that  $x_0 \preceq T(x_0, y_0)$  and  $y_0 \succeq T(y_0, x_0)$ , then there exist  $x, y \in X_\omega$  such that  $x = T(x, y)$  and  $y = T(y, x)$ .

**Proof .** Following the proof of Theorem 2.1, we only have to show that  $T(x, y) = x$  and  $T(y, x) = y$ . Because  $T^n(x_0, y_0) \xrightarrow{\omega} x$  and  $T^n(y_0, x_0) \xrightarrow{\omega} y$ , there exist  $\lambda_1 = \lambda_1(T^n(x_0, y_0), x) > 0$  and  $\lambda_2 = \lambda_2(T^n(y_0, x_0), y) > 0$  such that

$$\omega_{\lambda_1}(T^n(x_0, y_0), x) \rightarrow 0, \omega_{\lambda_2}(T^n(y_0, x_0), y) \rightarrow 0, \text{ as } n \rightarrow +\infty.$$

Now for  $\lambda \geq 2 \max\{\lambda_1, \lambda_2\}$  we obtain:

$$\begin{aligned} \omega_\lambda(T(x, y), x) &\leq \omega_{\frac{\lambda}{2}}(T(x, y), T^{n+1}(x_0, y_0)) + \omega_{\frac{\lambda}{2}}(T^{n+1}(x_0, y_0), x) \\ &= \omega_{\frac{\lambda}{2}}(T(x, y), T(T^n(x_0, y_0), T^n(y_0, x_0))) + \omega_{\frac{\lambda}{2}}(T^{n+1}(x_0, y_0), x) \\ &\leq \frac{k}{2}[\omega_{\frac{\lambda}{2}}(x, T^n(x_0, y_0)) + \omega_{\frac{\lambda}{2}}(y, T^n(y_0, x_0))] + \omega_{\frac{\lambda}{2}}(T^{n+1}(x_0, y_0), x) \\ &\leq [\omega_{\lambda_1}(T^n(x_0, y_0), x) + \omega_{\lambda_2}(T^n(y_0, x_0), y)] + \omega_{\lambda_1}(T^{n+1}(x_0, y_0), x) \rightarrow 0, \\ &\text{as } n \rightarrow \infty. \end{aligned}$$

Therefore by strictness of  $\omega$  we have  $T(x, y) = x$ . Similarly one can show that  $T(y, x) = y$ .  $\square$  From [16] we have that for each  $\begin{pmatrix} x \\ y \end{pmatrix}, \begin{pmatrix} x^* \\ y^* \end{pmatrix} \in X_\omega \times X_\omega$  there exists a  $\begin{pmatrix} z_1 \\ z_2 \end{pmatrix} \in X_\omega \times X_\omega$  which is comparable to  $\begin{pmatrix} x \\ y \end{pmatrix}$  and  $\begin{pmatrix} x^* \\ y^* \end{pmatrix}$ . In other words, each pair of elements in the product space has an upper bound or a lower bound.

**Remark 2.3.** The contractivity assumption is taken on the comparable elements in  $X_\omega \times X_\omega$ , and so Theorem 2.1 doesn't imply the uniqueness of the fixed point. In the next theorem we add the comparability condition to the hypothesis of Theorem 2.1 and conclude the uniqueness of the coupled fixed point of  $T$ .

**Theorem 2.4.** Adding comparability condition to the hypothesis of Theorem 2.1, we obtain the uniqueness of the coupled fixed point of  $T$ .

**Proof .** If  $\begin{pmatrix} x^* \\ y^* \end{pmatrix} \in X_\omega \times X_\omega$  is another coupled fixed point of  $T$ , then we show that

$$\omega_\lambda\left(\begin{pmatrix} x \\ y \end{pmatrix}, \begin{pmatrix} x^* \\ y^* \end{pmatrix}\right) = 0,$$

for some  $\lambda > 0$ , where

$$\lim_{n \rightarrow \infty} T^n(x_0, y_0) = x \ ; \ \lim_{n \rightarrow \infty} T^n(y_0, x_0) = y.$$

We consider two cases:

Case 1: If  $\begin{pmatrix} x \\ y \end{pmatrix}$  is comparable to  $\begin{pmatrix} x^* \\ y^* \end{pmatrix}$  with respect to the ordering in  $X_\omega \times X_\omega$ , then for all  $n \in \mathbb{N} \cup \{0\}$ ,  $\begin{pmatrix} T^n(x, y) \\ T^n(y, x) \end{pmatrix} =$

$\begin{pmatrix} x \\ y \end{pmatrix}$  is comparable to  $\begin{pmatrix} T^n(x^*, y^*) \\ T^n(y^*, x^*) \end{pmatrix} = \begin{pmatrix} x^* \\ y^* \end{pmatrix}$ , also

$$\begin{aligned} \omega_\lambda\left(\begin{pmatrix} x \\ y \end{pmatrix}, \begin{pmatrix} x^* \\ y^* \end{pmatrix}\right) &= \omega_\lambda(x, x^*) + \omega_\lambda(y, y^*) \\ &= \omega_\lambda(T^n(x, y), T^n(x^*, y^*)) + \omega_\lambda(T^n(y, x), T^n(y^*, x^*)) \\ &= \omega_\lambda(T(T^{n-1}(x, y), T^{n-1}(y, x)), T(T^{n-1}(x^*, y^*), T^{n-1}(y^*, x^*))) \\ &\quad + \omega_\lambda(T(T^{n-1}(y, x), T^{n-1}(x, y)), T(T^{n-1}(y^*, x^*), T^{n-1}(x^*, y^*))) \\ &\leq \frac{k}{2}[\omega_\lambda(T^{n-1}(x, y), T^{n-1}(x^*, y^*)) + \omega_\lambda(T^{n-1}(y, x), T^{n-1}(y^*, x^*))] \\ &\leq k^n[\omega_\lambda(x, x^*) + \omega_\lambda(y, y^*)] \\ &= k^n \omega_\lambda\left(\begin{pmatrix} x \\ y \end{pmatrix}, \begin{pmatrix} x^* \\ y^* \end{pmatrix}\right) \xrightarrow{\omega} 0, \text{ as } n \rightarrow \infty. \end{aligned}$$

So  $\omega_\lambda\left(\begin{pmatrix} x \\ y \end{pmatrix}, \begin{pmatrix} x^* \\ y^* \end{pmatrix}\right) = 0$  for some  $\lambda > 0$ .

Case 2: Suppose that  $\hat{x} = \begin{pmatrix} x \\ y \end{pmatrix}$  is not comparable to  $\hat{x}^* = \begin{pmatrix} x^* \\ y^* \end{pmatrix}$ . We know that there exists an upper bound or a lower bound  $z = \begin{pmatrix} z_1 \\ z_2 \end{pmatrix} \in X_\omega \times X_\omega$  of  $\hat{x}, \hat{x}^*$ . So, for all  $n = 0, 1, 2, \dots$ ,  $z = \begin{pmatrix} T^n(z_1, z_2) \\ T^n(z_2, z_1) \end{pmatrix}$  is comparable to  $\begin{pmatrix} T^n(x, y) \\ T^n(y, x) \end{pmatrix} = \begin{pmatrix} x \\ y \end{pmatrix}$  and  $\begin{pmatrix} T^n(x^*, y^*) \\ T^n(y^*, x^*) \end{pmatrix} = \begin{pmatrix} x^* \\ y^* \end{pmatrix}$ , so

$$\begin{aligned} \omega_\lambda\left(\begin{pmatrix} x \\ y \end{pmatrix}, \begin{pmatrix} x^* \\ y^* \end{pmatrix}\right) &= \omega_\lambda\left(\begin{pmatrix} T^n(x, y) \\ T^n(y, x) \end{pmatrix}, \begin{pmatrix} T^n(x^*, y^*) \\ T^n(y^*, x^*) \end{pmatrix}\right) \\ &\leq \omega_{\frac{\lambda}{2}}\left(\begin{pmatrix} T^n(x, y) \\ T^n(y, x) \end{pmatrix}, \begin{pmatrix} T^n(z_1, z_2) \\ T^n(z_2, z_1) \end{pmatrix}\right) + \omega_{\frac{\lambda}{2}}\left(\begin{pmatrix} T^n(z_1, z_2) \\ T^n(z_2, z_1) \end{pmatrix}, \begin{pmatrix} T^n(x^*, y^*) \\ T^n(y^*, x^*) \end{pmatrix}\right) \\ &= \omega_{\frac{\lambda}{2}}(T^n(x, y), T^n(z_1, z_2)) + \omega_{\frac{\lambda}{2}}(T^n(y, x), T^n(z_2, z_1)) \\ &\quad + \omega_{\frac{\lambda}{2}}(T^n(z_1, z_2), T^n(x^*, y^*)) + \omega_{\frac{\lambda}{2}}(T^n(z_2, z_1), T^n(y^*, x^*)) \\ &< k^n\{[\omega_{\frac{\lambda}{2}}(x, z_1) + \omega_{\frac{\lambda}{2}}(y, z_2)] + [\omega_{\frac{\lambda}{2}}(x^*, z_1) + \omega_{\frac{\lambda}{2}}(y^*, z_2)]\} \xrightarrow{\omega} 0, \\ &\text{as } n \rightarrow \infty. \end{aligned}$$

Thus,  $\omega_\lambda\left(\begin{pmatrix} x \\ y \end{pmatrix}, \begin{pmatrix} x^* \\ y^* \end{pmatrix}\right) = 0$  for some  $\lambda > 0$ , and by the strictness of  $\omega$ , we get  $\hat{x}^* = \hat{x}$ . □

**Theorem 2.5.** In addition to the hypothesis of Theorem 2.1, suppose that each pair of elements in  $X_\omega$  has an upper bound or a lower bound in  $X_\omega$ . Then there exist  $x, y \in X_\omega$ , such that  $x = y$ .

**Proof .** Case 1: Suppose that  $x$  is not comparable to  $y$ . By the assumption there exists a  $z \in X_\omega$  comparable to  $x$  and  $y$  such that  $x \preceq z$  and  $y \preceq z$ . Then we have,

$$T(x, y) \preceq T(z, y) \text{ and } T(x, y) \succeq T(x, z)$$

and

$$T(y, x) \preceq T(z, x) \text{ and } T(y, x) \succeq T(y, z).$$

The mixed monotone property of  $T$  yields:

- (1)  $T^2(x, y) = T(T(x, y), T(y, x)) \preceq T(T(z, y), T(y, z)) = T^2(z, y)$ . This implies that  $T^2(x, y) \preceq T^2(z, y)$ ;
- (2)  $T^2(y, x) = T(T(y, x), T(x, y)) \preceq T(T(z, x), T(x, z)) = T^2(z, x)$ . This implies that  $T^2(y, x) \preceq T^2(z, x)$ ;
- (3)  $T^2(x, y) = T(T(x, y), T(y, x)) \succeq T(T(x, z), T(z, x)) = T^2(x, z)$ , which is equivalent to  $T^2(x, y) \succeq T^2(x, z)$ ;
- (4)  $T^2(y, x) = T(T(y, x), T(x, y)) \succeq T(T(y, z), T(z, y)) = T^2(y, z)$ , or equivalently  $T^2(y, x) \succeq T^2(y, z)$ .

By induction it can be shown that similar relations hold for all  $n > 2$  too. Now, consider

$$\begin{aligned} \omega_\lambda(x, y) &= \omega_\lambda(T^{n+1}(x, y), T^{n+1}(y, x)) \\ &= \omega_\lambda(T(T^n(x, y), T^n(y, x)), T(T^n(y, x), T^n(x, y))) \\ &\leq \omega_{\frac{\lambda}{3}}(T(T^n(x, y), T^n(y, x)), T(T^n(x, z), T^n(z, x))) \\ &\quad + \omega_{\frac{2\lambda}{3}}(T(T^n(x, z), T^n(z, x)), T(T^n(y, x), T^n(x, y))) \\ &\leq \omega_{\frac{\lambda}{3}}(T(T^n(x, y), T^n(y, x)), T(T^n(x, z), T^n(z, x))) \\ &\quad + \omega_{\frac{\lambda}{3}}(T(T^n(x, z), T^n(z, x)), T(T^n(z, x), T^n(x, z))) \\ &\quad + \omega_{\frac{\lambda}{3}}(T(T^n(z, x), T^n(x, z)), T(T^n(y, x), T^n(x, y))) \\ &\leq \frac{k}{2}[\omega_{\frac{\lambda}{3}}(T^n(x, y), T^n(x, z)) + \omega_{\frac{\lambda}{3}}(T^n(y, x), T^n(z, x))] \\ &\quad + \frac{k}{2}[\omega_{\frac{\lambda}{3}}(T^n(x, z), T^n(z, x)) + \omega_{\frac{\lambda}{3}}(T^n(z, x), T^n(x, z))] \\ &\quad + \frac{k}{2}[\omega_{\frac{\lambda}{3}}(T^n(z, x), T^n(y, x)) + \omega_{\frac{\lambda}{3}}(T^n(x, z), T^n(x, y))] \\ &= k[\omega_{\frac{\lambda}{3}}(T^n(x, y), T^n(x, z)) + \omega_{\frac{\lambda}{3}}(T^n(x, z), T^n(z, x)) \\ &\quad + \omega_{\frac{\lambda}{3}}(T^n(z, x), T^n(y, x))]. \end{aligned}$$

Proceeding, then we obtain  $\omega_\lambda(x, y) \leq k^{n+1}[\omega_{\frac{\lambda}{3}}(x, z) + \omega_{\frac{\lambda}{3}}(z, y)] \xrightarrow{\omega} 0$  as  $n \rightarrow \infty$ , so  $\omega_\lambda(x, y) = 0$ , and by the strictness of  $\omega$ , we get  $x = y$ .

Case 2: If  $x$  is comparable to  $y$ , then  $x = T(x, y)$  is comparable to  $y = T(y, x)$ , and we obtain

$$\omega_\lambda(x, y) = \omega_\lambda(T(x, y), T(y, x)) \leq k\omega_\lambda(x, y).$$

Because  $0 \leq k < 1$  we conclude that  $\omega_\lambda(x, y) = 0$ , so  $x = y$ .  $\square$

As an application of Theorem 2.1, we consider the following example.

**Example 2.6.** Let the triple  $(\mathbb{R}, d, +)$  be a metric semigroup, i.e., the pair  $(\mathbb{R}, d)$  is an Abelian semigroup with respect to addition,  $+$ , and  $d$  is translation invariant in the sense that  $d(p + r, q + r) = d(p, q)$  for all  $p, q, r \in \mathbb{R}$ . Let  $X$  be the set of all real valued functions  $x$  on the closed interval  $[a, b] \subset \mathbb{R}$  with  $a < b$  such that  $x(a) = x_0$ . The function  $\varphi : \mathbb{R}^+ \rightarrow \mathbb{R}^+$  is a  $\varphi$ -function, i.e., a continuous nondecreasing unbounded function vanishing only at zero. Suppose that  $\varphi$  is a convex  $\varphi$ -function on  $\mathbb{R}^+$ . We define the function  $\omega : (0, \infty) \times X \times X \rightarrow [0, \infty]$  for all  $\lambda > 0$  and  $x, y \in X$

$$\omega_\lambda(x, y) = \sup_\tau \sum_{i=1}^m \varphi \left( \frac{d(x(t_i) + y(t_{i-1}), x(t_{i-1}) + y(t_i))}{\lambda(t_i - t_{i-1})} \right) (t_i - t_{i-1})$$

where the supremum is taken over all partitions  $\tau = \{t_i\}_{i=0}^m$  of the interval  $[a, b]$ . It was shown in [8] that  $\omega$  is a strict convex modular on  $X$ , and  $X_\omega^*(x_0) = X_\omega^*$ , (here  $x_0$  denotes the constant mapping  $x_0(t) = x_0$  for all  $t \in [a, b]$ ). For more details see [10]. Fix an  $x_0 \in \mathbb{R}$ , it is easy to show that

$$X_\omega^* = \{x : [a, b] \rightarrow \mathbb{R} \mid x(a) = x_0 \text{ and } \omega_\lambda(x, x_0) < \infty \text{ for some } \lambda > 0\}$$

where

$$\omega_\lambda(x, x_0) = \sup_\tau \sum_{i=1}^m \varphi \left( \frac{d(x(t_i), x(t_{i-1}))}{\lambda \cdot (t_i - t_{i-1})} \right) (t_i - t_{i-1}).$$

Note that by the last relation  $\omega_\lambda(x, x_0)$  is independent from  $x_0 \in \mathbb{R}$ . This value is called the generalized  $\varphi_\lambda$ -variation of  $x$ , where  $\varphi_\lambda(u) = \varphi(u/\lambda), u \in \mathbb{R}^+$ . Recall that  $\mathbb{R}$  with  $d(x, y) = |x - y|$  is a complete metric space so the modular space  $X_\omega^* = X_\omega$  is  $\omega$ -complete, (see [10]).

Now we set  $[a, b] = [-1, 1], x_0 = 0$  and  $\varphi(t) = \sqrt{t}$  for  $t \in \mathbb{R}^+$ . With this modification we have

$$X = \{x : [-1, 1] \rightarrow \mathbb{R} \mid x(-1) = 0\}$$



and

$$X_\omega^* = \{x : [-1, 1] \rightarrow \mathbb{R} \mid x(-1) = 0 \text{ and } \omega_\lambda(x, 0) < \infty \text{ for some } \lambda > 0\}.$$

Let the binary relation  $\preceq$  on  $X_\omega$  be the ordinary relation that define for all  $x, y \in X$  as follows:

$$x \preceq y \text{ iff } x(t) \leq y(t) \text{ for all } t \in [-1, 1].$$

Define  $T : X_\omega \times X_\omega \rightarrow X_\omega$  by  $T(x, y) = \frac{1}{5}(x(t) - y(t))$ . We show that  $T$  has the properties of Theorem 2.1 Indeed,

$$\begin{aligned} \omega_\lambda(T(x, y), x_\circ) &= \omega_\lambda\left(\frac{1}{5}(x - y), 0\right) \\ &= \sup_\tau \sum_{i=1}^m \varphi\left(\frac{\left|\frac{1}{5}(x(t_i) - x(t_{i-1})) - \frac{1}{5}(y(t_i) + y(t_{i-1}))\right|}{\lambda(t_i - t_{i-1})}\right)(t_i - t_{i-1}) \\ &\leq \frac{1}{\sqrt{5}} \sup_\tau \sum_{i=1}^m \varphi\left(\frac{\left(|x(t_i) - x(t_{i-1})| + |y(t_i) - y(t_{i-1})|\right)}{\lambda(t_i - t_{i-1})}\right)(t_i - t_{i-1}) \\ &\leq \frac{1}{\sqrt{5}}(\omega_{\lambda_1}(x, 0) + \omega_{\lambda_2}(y, 0)) \\ &< \infty \end{aligned}$$

where,  $\lambda \geq \max\{\lambda_1, \lambda_2\}$ . On the other hand  $(T(x, y))(-1) = \left(\frac{1}{5}(x - y)\right)(-1) = 0$ . This implies that  $T(x, y) \in X_\omega^* = X_\omega$ .

$T$  has mixed monotone property, because if  $x_1(t) \leq x_2(t)$  for all  $t \in [-1, 1]$  then  $T(x_1, y) \leq T(x_2, y)$ , similarly if  $y_1(t) \leq y_2(t)$  for all  $t \in [-1, 1]$  then  $T(x, y_1) \geq T(x, y_2)$ .

Now let  $x_\circ(t) = -1$  and  $y_\circ(t) = 1$  be constant functions on the closed interval  $[-1, 1]$ , then  $T(x_\circ, y_\circ) = -\frac{2}{5} = x_1(t)$  is constant function that implies  $x_\circ \leq x_1$ . Similarly  $y_\circ(t) = 1 \geq y_1(t) = T(y_\circ, x_\circ) = \frac{2}{5}$ . For inequality (2.1) we have;

$$\begin{aligned} \omega_\lambda(T(x, y), T(u, v)) &= \omega_\lambda\left(\frac{1}{5}(x - y), \frac{1}{5}(u - v)\right) \\ &= \sup_\tau \sum_{i=1}^m \varphi\left(\frac{\frac{1}{5}\left|(x(t_i) - y(t_i)) + (u(t_{i-1}) - v(t_{i-1})) - (x(t_{i-1}) - y(t_{i-1})) - (u(t_i) - v(t_i))\right|}{\lambda(t_i - t_{i-1})}\right)(t_i - t_{i-1}) \\ &\leq \frac{1}{\sqrt{5}} \sup_\tau \sum_{i=1}^m \varphi\left(\frac{\left(|x(t_i) + u(t_{i-1}) - x(t_{i-1}) - u(t_i)| + |y(t_i) + v(t_{i-1}) - y(t_{i-1}) - v(t_i)|\right)}{\lambda(t_i - t_{i-1})}\right)(t_i - t_{i-1}) \\ &\leq \frac{1}{\sqrt{5}}(\omega_\lambda(x, u) + \omega_\lambda(y, v)). \end{aligned}$$

Therefore  $k = \frac{2}{\sqrt{5}} < 1$ , and by Theorem 2.1 there exist  $x, y \in X_\omega$  such that  $x = T(x, y)$  and  $y = T(y, x)$ .

## Acknowledgment

The author would like to thank the referees for their useful suggestions and comments during the work on this paper.

## References

- [1] R.P. Agarwal, M.A. El-Gebbeily and D. Oregan, *Generalized contractions in partially ordered metric spaces*, Appl. Anal. **87** (2008), no. 1, 109–116.

- [2] A. Amini-Harandi and H. Emami, *A fixed point theorem for contraction type maps in partially ordered metric spaces and application to ordinary differential equation*, *Nonlinear Anal.* **72** (2010), no. 5, 2238–2242.
- [3] S. Banach, *sur les opérations dans les ensembles abstraits et leur applications aux équations intégrales*, *Fund. Math.* **3** (1992), 133–181.
- [4] P. Chaipunya, C. Mongkolkeha, W. Sintunavarat and P. Kumam, *Fixed point theorems for multivalued mappings in modular metric spaces*, *Abstr. Appl. Anal.* **2012** (2012), 1–14.
- [5] V.V. Chystyakov, *Modular metric spaces generated by  $F$ -modulars*, *Folia Math.* **15** (2008), no. 1, 3–24.
- [6] V.V. Chystyakov, *Modular metric spaces I: Basic concepts*, *Nonlinear Anal.* **72** (2010), no. 1, 1–14.
- [7] V.V. Chystyakov, *Modular metric spaces II: Application to superposition operators*, *Nonlinear Anal.* **72** (2010), no. 1, 15–30.
- [8] V.V. Chystyakov, *A fixed point theorem for contractions in modular metric spaces*, arXiv preprint arXiv:1112.5561 (2011).
- [9] T. Gnana Bhaskar and V. Lakshmikantham, *Fixed point theorem in partially ordered metric space with applications*, *Nonlinear Anal.* **65** (2006), no. 7, 1379–1393.
- [10] K. Goebel and W.A. Kirk, *Topics in metric fixed point theory*, Cambridge Studies in Advanced Mathematics, 28. Cambridge University Press, Cambridge, 1990.
- [11] J. Harjani and K. Sadarangani, *Generalized contractions in partially ordered metric spaces and applications to ordinary differential equations*, *Nonlinear Anal.* **72** (2010), no. 3-4, 1188–1197.
- [12] M.A. Khamsi, W.M. Kozłowski and S. Reich, *Fixed point theory in modular function spaces*, *Nonlinear Anal.* **14** (1990), no. 11, 935–953.
- [13] C. Mongkolkeha, W. Sintunavarat and P. Kumam, *Fixed point theorem for contraction mappings in modular metric spaces*, *Fixed Point Theory Algorithms Sci. Eng.* **2011** (2011), no. 93, 1–9.
- [14] J. Musielak and W. Orlicz, *On modular spaces*, *Studia Math.* **18** (1959), 49–65.
- [15] H. Nakano, *Modular semi-ordered spaces*, Maruzen Co., Ltd., Tokyo, 1950.
- [16] J.J. Nieto and R. Lopez, *Existence and uniqueness of fixed point in partially ordered sets and applications to ordinary differential equations*, *Acta. Math. Sin. English Ser.* **23** (2007), 2205–2212.
- [17] H. Rahimpoor, A. Ebadian, M. Eshaghi Gordji and A. Zohri, *Fixed point theory for generalized quasi-contraction maps in modular metric spaces*, *J. Math. Comput. Sci.* **10** (2014), no. 1, 54–60.
- [18] H. Rahimpoor, A. Ebadian, M. Eshaghi Gordji and A. Zohri, *Some fixed point theorems on modular metric spaces*, *Acta Univ. Apulensis* **37** (2014), no. 37, 161–170.